Quick-Start Guide

Starlechy-om

Hard-to-find made easy®

Adjustable Wall Mount Bracket - Flat-Pack

n

*Product may vary from image. 6U model shown

Feature

Function

{81 Mounting Post Rails

Mounting Holes enable to mount Server Rack Equipment

»2| Keyhole Mounting Points

Secure the Adjustable Wall Mount Bracket to a wall

<3 Vertical Hinge Screws

Enables the Side Panels to be folded out when loosened

Use to secure the Side Panels to the rest of the frame when
tightened

_ 8 Adjustable Depth Screws

Secure the Mounting Post Rails to the Side Panels at a preset
depth

B Adjustable Depth Holes

Enables to adjust the Mounting Depth with various holes along
the side of the Mounting Post Rails

(3 Side Panel Screws « Secure the Side Panels to the rest of the frame
74| Side Panel Handles - Enable to slide the Mounting Post Rails for depth adjustments
Requirements

For the latest manuals, product information, technical specifications, and declarations of conformance, please visit:
www.StarTech.com/support

- Cage nut tool (optional)

« Electric drill with Phillips head drill bit (PH3) for M8x50 Screws (optional)
« Socket head (11mm) wrench (optional)

- Stud finder (optional)

- Spirit/bubble level (optional)

« Pencil (optional)

« Phillips head screwdriver (PH2) for M5x15 Screws

« Phillips head screwdriver (PH3) for M6x12 Screws

For additional self-service support options and community forums, please visit: www.StarTech.com/support

Revision: December 19, 2024


https://www.startech.com/support
https://www.StarTech.com/support

Quick-Start Guide

Warnings!

- StarTech.com Ltd. is not responsible for any property damage and/or personal injury resulting from the installation
procedures outlined in this technical document.

« Product installation and mounting should be completed by a certified professional as per the local safety and building
code guidelines.

- Read the entire manual and ensure the instructions are fully understood before assembling, installing, and/or using this
product. Failure to do so might result in personal injury or property damage.

- Do not exceed the weight capacity of this product. Overloading this product might result in personal injury or property
damage. Visit www.StarTech.com/support to find the specific capacity of the product.

- Before adding equipment to this product, ensure that has been properly mounted.

- Never assemble, install, or operate this product if parts are missing or damaged.

« The mounting instructions and hardware included with this product may not be suitable for the specific wall structure
used. If you lack the necessary expertise required to attach this product to the wall structure or to assess the suitability of
the hardware provided, please contact a professional installer.

- If you lack the necessary expertise to wall mount this product, contact a construction professional to install it or to provide
specific mounting instructions for the wall structure.

- Wall structures vary. Ensure the type of wall structure and mounting hardware will properly support the mounted
equipment. Failure to do so might result in personal injury and/or equipment damage. The wall structure should be
capable of supporting at least four times the weight of the mounted equipment.

Package Contents

f o

M5 Cage Nuts M5x15 Screws

Wall Mount Rack (A) M8x50 Screws (B) Mé6x12 Screws (C) Quantity: 12 (6U Quantity: 12 (6U
Quantity: 1 Quantity: 4 Quantity: 4 model) / 24 (8U model) | model) / 24 (8U model)

Quick-Start Guide
Quantity: 1



https://www.StarTech.com/support

Quick-Start Guide

Assembly

1

Il

& S— )

\\DDDDDDDDDDDDDDDDDDDDEDDE«L




Quick-Start Guide

(&)

//

D@@DD@DDED@

//§DDDDDDDDDDDDD

%@@Q@QDQ@D@M@EQDDQDDQDD@@§

i

Operation




Quick-Start Guide
@
=

S ®
S S
S -]
S S
> S
|7
[

DDUUDUUDDDDU*

s

S

S

oooooonoo@g °
S

®

S

®

®
®

Il

OoooooOodooooooogogooog o OO &

0

Il Il
< <>

o,
> SO
9 ﬁ ==

S
S
S
S
S
S

® ®
® ®
® = )
® ®
® ®
® ®
[—
m <




Quick-Start Guide

i i

Wall Mounting
Wooden Stud Wall

o J s J Y | e e e s e g | e e e o s e

8 1] o o o o o | ot | ot ot o o

&' :
r
\



Quick-Start Guide




Quick-Start Guide

@(DYE

HQ Contact: US Contact: UK Contact: EU Contact: JP Contact: FR: startech.com/fr
StarTech.com Ltd. StarTech.com USA LLP StarTech.com Ltd. StarTech.com Ltd. StarTech.com K.K. DE: startech.com/de
45 Artisans Crescent, 4490 South Hamilton Rd, 15 Gowerton Rd, Siriusdreef 17-27 Atelier Yours Ogawamachi 7F ES: startech.com/es
London, ON N5V 5E9, Groveport, OH 43125, Northampton, NN4 7BW, 2132 WT Hoofddorp  1-10-2 Kanda Ogawamachi NL: startech.com_/nl
Canada United States United Kingdom The Netherlands Chiyoda-ku, Tokyo 101-0052 IT: startech.com/it
Japan JP: startech.com/jp



